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Group Names:  __________________________________________________________

Group Site:  _______________

Period:  ________________

Topography Activity

Objectives:  TSWBAT

· locate the trees larger than 50 cm on the student's grid.

· locate the canopy coverage of the large trees.

· locate the Beyond The Limits on the student's grid.

· use the GPS to find the latitude and longitude of the center of the grid.

Background:

· Cartography:
The mapping of an area or region.

· Topography:
The mapping of details in an area or region (usually refers to elevations).

Procedure:

1) Locate the big trees (> 50 cm in circumference) on your grid.

a) Measure the distance from two adjacent corners of your grid to the tree.  Repeat this for each tree.

i) Record which corner you are measuring from and record in the data table.

ii) Record the distance in the data table.

2) Determine the size of the canopy coverage for the big trees (> 50 circumference).

a) For each tree > 50 cm, have one student stand at the edge of the canopy for that tree.  Have another student take the tape measure to the opposite side of the same tree.  Record the distance from the outside of the tree canopy to the other side of the same tree in the data table.

3) Determine the latitude and longitude of the center of the grid.

a) Obtain the GPS and read the window.

b) Record the latitude and longitude in the data table.

c) Record the number of satellites the GPS was reading in the data table.

Data Table:

Tree
Corner Coordinates
Distance
Canopy Coverage
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GPS Data Table

Latitude
Longitude
# of Satellites





Data Analysis:
1) Locate each of the big trees on the grid map.

a) Take two rulers and measure from the same corners which you measured from during the activity.  Remember that 1" on your map equals 1 meter on the site.  Where the two measurements intersect is the outside of the tree.

b) Use a compass and draw the tree circumference to scale.  Circumference = 2(r (where r = radius).  The radius is equal to Circumference/2( = Radius.  Convert the circumference to the radius and then use the compass to mark the tree circumference.

2) Mark the tree canopy to scale.  Simple measure across the tree the distance of the canopy and freehand sketch the tree canopy.  If the canopy extends to another grid simply stop at the corner of the grid.

3) At the top of your map record the latitude and longitude from the GPS.
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